
ROLL-UP DOOR GUARD — EXPLODED VIEW

Aptos Industries (831) 661-0213

9

23

24

25

4

6

7

23

24

25

19

7

6

4

7

6

47

6

4

8

16

17

16

1

2

3

10

32

11

12

5

6

11 8

4

30

33

29

31

27

20

1314

32

5

6

4

21

7

6

4

22

15

5

4

18

5

4

5

6

4

26

5

4

22
23
24
25
26
27
28
29
30
31
32

Pivot bracket
3/8” flat washer
3/8” lockwasher
3/8”x1”bolt
Base bracket
Lower guard arm
Guard arm connector
Upper guard arm
Plastic cap
Nut/spring assembly
5/16”    Fender washer

33 Middle guard arm

Exploded view #
1
2
3
4
5

Parts
Actuator arm bolt (5/16”x3 1/2” carriage bolt)
Actuator arm bolt (5/16”x4 1/2” carriage bolt)
Pivot bolt (1/2”x4 1/2” axle bolt)
5/16” flat washer
5/16” nut

6
7
8
9

10
11
12
13
14
15
16
17
18
19
20

5/16” lockwasher
5/16”x1” bolt
Actuator arm bushings
Mounting bracket
5/16“ locknut
Ball stud
Damper
Stop
Pivot bolt spacer
Pivot bolt nut (3/8” x 16)
Spring nut
Universal adapter bracket
Pivot keeper
Actuator spring
Guard arm keeper

21 Actuator arm

28



1. Place the Universal Adapter Bracket (UAB) (I7) approximately where the RUDG is to be mounted. The 
bottom of the UAB should be about 20 inches from the floor. Locate the existing door mounting bolts 
that fall within the span of the UAB. Remove the nuts/bolts from the existing mounting and place the 
UAB over the holes/studs. Replace the nuts/bolts to secure the UAB to the wall/frame of the overhead 
door. Fig. 1 (Alternative mounting method for steel frame buildings shown on fig. 8&9) 
 
2. Insert two spring nuts (16) into the UAB. Position the bottom nut 34 inches from the floor. Position 
the top nut 48 inches from the floor. Using two 3/8x 1" bolts (with lock washer and flat washer) 
(25,24,23) attach the RUDG to the UAB. Hand tighten the bolts. Fig. 2 
 
3. Slide the lower guard arm (27) into position on the pivot bracket (22) so that the holes align. Place the 
guard arm retainer bracket (20) inside the lower guard arm and attach with two 5/16x 1” bolts (with lock 
washer and flat washer) (7,6,4). Thread nut/spring assembly onto exposed threads of rear-guard arm 
bracket. Fig. 3 
 
4. Insert the guard arm coupling (28) into the free end of the lower guard arm (27) by compressing the 
coupling to fit inside the lower guard arm. Push the coupling into the lower guard arm until the alignment 
marker just disappears inside the lower guard arm. Attach the upper guard arm (29) to the lower guard 
arm by compressing the free end of the guard arm coupling and sliding the upper guard arm over the 
coupling until the upper and lower guard arm sections meet. Fig. 4. Install black cap on free end of guard 
arm. 
 
5. Rotate the assembled guard arm to the open (vertical) position to check that nothing interferes with 
the operation of the guard arm. Adjust RUDG so that the guard arm does not go over center in fully open 
position. Fig 7. Lower the height of the RUDG on the UAB if necessary to clear any overhead obstacles. 
Tighten the bolts (25) on the UAB. Return the guard arm to closed (near horizontal) position. 
 
6. Position the bottom edge of the overhead door at about waist height. The next step will be to attach 
the actuator chain to the trailing edge of the door. The chain is bolted to the keeper on the bottom of the 
door. Fig. 5 (On sectional door without bottom keeper, the chain can be bolted to bottom handle) 
 
7. Drill a 1/4" hole into the keeper, 1/2” from each side. Attach the bent oblong chain link to the keeper 
using a 1/4x 1” bolt. The bolt must be installed upside down. Secure with 1/4" locknut and washer. 
Attach one end of actuator chain with a laplink and close laplink. Fig. 5 
 
8. Raise the overhead door to the fully open position, allowing the attached chain to hang freely. Raise 
the guard arm to the open (vertical) position. Using a laplink, attach the free end of the actuator spring 
(the spring attached to the RUDG) to the nearest link of the chain hanging from the door. Do not close 
laplink. Slightly lower door and move laplink up two links of the actuator chain. Re-open door. Check 
spring for slight extension in fully open position. Continue moving laplink up actuator chain one or two 
links at a time until correct adjustment is obtained. Close laplink. Cut off excess chain or, using ties 
provided, secure excess chain to itself. 
 
9. Grasp chain approximately 2 feet above the RUDG. Lower door to fully closed position and lower 
guard arm to closed position (near horizontal). Determine the high midpoint of chain and attach laplink to 
this point. Attach spring end of retention chain to laplink and close laplink. Fig 6 
 
10. Determine length of retention chain by finding attachment point on existing door mounting hardware 
between 3 and 4 feet from high midpoint. Attach closed loop end of retention chain hook to door frame 
using existing nut/bolt. Pull retention chain up until slack spring is fully extended. Attach the free end of 
retention chain to the open loop end of the retention chain hook. Fig 6. Open the door to check 
operation of door guard and adjust chain if necessary. Fig 7 
 



Roll-Up Door Guard — Figures 1-5

Guard Arm Retainer

Bolt
Lockwasher
Washer

Washer

Lower Guard Arm

Actuator Arm
Pivot Bracket

Nut / Spring Assembly

Existing Brackets

UAB

Approximately
20 inches

Washers 

Lockwashers 
Bolts 

Spring Nuts 

UAB 

Lower Guard Arm

Upper Guard Arm

Guard Arm Connector

Drill hole 1/2 inch  
from edges 

Angle-Iron on  
bottom of door 

Bent oblong 
chain link 

Nylock Nut

Laplink 

Figure 5

Figure 2

Figure 3

Figure 1

Figure 4



Roll-Up Door Guard — Figures 6 & 7

High midpoint

Retention spring
(Fully extended)

Retention chain hook

Slight slack 

No slack 

Retention chain 

Check for clearance overhead

90º 

Actuator Spring
Slight extension with door fully open

Adjust arm 
to not be
overcenter

Figure 7
Figure 6



Roll-Up Door Guard — Figures 8 & 9

Figure 9

Figure 8

Steel Beam

Overhead Door Track

DOORWAY

Pivot Bracket
(26)

Base Bracket
(9)

TOP VIEW 

Existing 
Mounting 
Bolts

Drill new hole
for lower 
mounting bolt

SOME PARTS OMITTED FOR CLARITY


	PDF-Instructions
	exploded

	written instructions
	PDF-Instructions
	fig1-5
	fig6-7
	fig8-9


